Construction division. Advice for giving credit to contractors/suppliers.

	SI. No. — site bills 157			Date - site bills Register			25-10-22 6 mR	
Comp	my Name:	MRI	MLLP	Site:				nR
Name	of Contractor		B. T	ähu	Pathi	Po	Ju	,
Natur	of work			ciù	Y 4	rock		
Si dak	done	From Date	113	8-8-		Date	20	10-22
SI. No.	Villa/Flat/block no	Qty.	Rate	;	Units	Amou	nt	Contractors bill no
1.	O- Stock Col	id 19L	+3 4	,64	set	90	16/	
2.	Part shift			96	st	96	37/	
3.	2 nd Hoo	rto 194		.28	stt	102		
4.	6 to blood			60	st		881/	
5.	W642 114			.92	St.t		503/	
		5 8		rol		20/		
7.	4		9	8	hor	39	19/-	-
9.					-	-		
10.		-+-				-		
11.		Total:				55	,734,	1-
Bill	Bill required DYES 31			GST	bill requi		TYES	
	Measurement & ERequire				surement		☐ Enclo	
	estimate sheet: Not req		forced	1	WO date:		LINGLE	IICIOGOG
Ren				-	compl	'eted		
	Remarks: All work completed							
Apr	proved by Project I	Manager o	Approved	by De	sign Tean	n Ap	proved by	y M.D.
Det			Date: .			Da	te:	
Sig			Sign:			Sig	jo:	

Notes: 1. This advice must be sent within 7 days of completing work, 2. This form can be used for certifying labour bills, bills for him charges, earth work, tumbery civil connectors, 3. Whenever not applicable – fill NA. 4. Estimate and measurement about are not required for turnitary jobs where guideline rates are clearly given.

Company Name:	MRMLLP					Approved by:	ed by:	Ram prasad
Project:	Gulmohar Residency	acy				Sign		
Work Description:	D-block Corridors dust shifting	s dust shifting						
Prepared By	P.Sai Kumar							
Contractor Name:	B. Tirupati Raju							
Date:	25-10-2022							
			Α	В	С	D	E= AxBxCxD	F
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units
_	D-block		- Comban					
		Corridors Dust shifting	Condition					
		Corridors Dust shifting 2nd floor	1.00	1.00	1.00	1.00	1,943	Sft
		Corridors Dust shifting 2nd floor 3rd floor	1.00	1.00	1.00	1.00	1,943 1,943	Sft Sft
		Corridors Dust shifting 2nd floor 3rd floor 4th floor	1.00	1.00 1.00	1.00	1.00	1,943 1,943 1,943	Sft Sft
		Corridors Dust shifting 2nd floor 3rd floor 4th floor 5st floor	1.00 1.00 1.00	1.00 1.00 1.00	1.00 1.00 1.00	1.00 1.00 1.00	1,943 1,943 1,943 1,943	SA SA SA
		Corridors Dust shifting 2nd floor 3rd floor 4th floor 5st floor 6th floor	1.00 1.00 1.00	1.00 1.00 1.00 1.00	1.00 1.00 1.00 1.00	1.00 1.00 1.00 1.00	1,943 1,943 1,943 1,943 1,943	SA SA SA
	D-block Garbag	D-block Corridors Dust shifting 2nd floor 3rd floor 4th floor 5st floor 6th floor	1.00 1.00 1.00 1.00	1.00 1.00 1.00 1.00 1.00	1.00 1.00 1.00 1.00 1.00 5.25	1.00 1.00 1.00 1.00	1,943 1,943 1,943 1,943 1,943	Sth Sth Sth Sth Sth Sth Sth Sth
	D-block Garbag	Corridors Dust shifting 2nd floor 3rd floor 4th floor 5st floor 6th floor e room slab chipping 8mm rods cutting	1.00 1.00 1.00 1.00 1.00 1.00 1.00	1.00 1.00 1.00 1.00 1.00	1.00 1.00 1.00 1.00 1.00 1.00	1.00 1.00 1.00 1.00 1.00	1,943 1,943 1,943 1,943 1,943 49	SA SA SA SA SA SA SA SA

.

ESTIMATE SHEET							
Company Name:	MRMILLP					Approved by:	Ram prasad
	Gulmohar Residency	ру				Sign	Address of the Late of the Lat
Work Description:	D-block Corridors dust shifting	dust shifting					-
Prepared By	P.Sai Kumar						
Contractor Name	B.Tirupati Raju						
Date:	25-10-2022						management areas and depth
						And the second s	
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	
-	D-block	Corridors Dust shifting					
		2nd floor	1943	SA	4.64	9016	
		3nd floor	1943	Sfl	4.96	9637	
		4nd floor	1943	Sft	5.28	10259	
		5nd floor	1943	Sfi	5.60	10881	
		6th floor	1943	Sft	5.92	11503	
		8mm rods cutting	65	nos	8.00	520	
	D-block Garbage	D-block Garbage room slab chipping	49	sfl	80	3919	
						55,734	
		11.0					

Bill for Labour Charges

B.Thirupathi raju, Hyderabad.

Date: 25-10-2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Dust Shifting

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards D-block	
	Corridors chipping & flooring dust shifting. Total	Rs 22,293 /-
	Amount = Rs.55,734 /-	
	Work done from date 13.08.22 to date 20-10-2022	

Amount in words: Twenty Two Thousand Two hundred and Ninety Three Rupees Only.

Sign: B. Fy Juant

Allowance for Consumables

B. Thirapathi Raju, Hyderabad.

Date: 25-10-2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Dust Shifting

Towards:

Labour Charges

S No.	Description	Amount
1	Brief description of work done: Towards D-block Corridors chipping & flooring dust shifting. Total	Rs.11,146 /-
	Amount = $Rs. 55.734 / -$	
	Work done from date 13.08.22 to date 20-10-2022	

Amount in words: Eleven Thousand One Hundred and Forty Six Rupees Only.

Sign: Jo Linu My

Bill for Equipment Allowance

B. Thirupathi Raju, Hyderabad.

Date: 25-10-2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Dust Shifting.

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards D-block	
	Corridors chipping & flooring dust shifting. Total	Rs 22,293 /-
	Amount = Rs.55,734 /-	
	Work done from date 13.08.22 to date 20-10-2022	

Amount in words: Twenty Two Thousand Two hundred and Ninety Three Rupees Only.

Sign: B Jury ry ry